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1
36.3 b (13 TeV)
> C
[}
© - ++ Jpsidpsi simulated events
5 2500_— CMS + psiJpsi simu even
% C Simulation fit
S 2000/—
w B
1500:—
1000:—
500:—
Qgoncesesarls g T eeesesaghsesisiesied,

m,[GeV]

Jpsi pt > 6GeV, use acceptance and efficiency except pt acceptance

Events/(0.01 GeV)

40000

30000

20000

Events/(0.01 GeV)

36.3 b (13 TeV)

o
o
(=]
8

w
o
o
8

10000

+ JpsiJpsi simulated events

CMS

Simulation

fit

1 1 L 1 I 1 1 1 1 'y i) 4 I A 0 L )
3 341 3.2 3.3 3.4
m,,[GeV]

i pt > 6GeV, use all acceptance and efficiency

36.3 b (13 TeV)

n [
wn (=]
o o
8 8

20000

15000

10000

5000

CMS o + JpsiJpsi simulated events

Simulation

fit

Jpsi

3 a1 32 e 24
m,,[GeV]

pt > 7GeV, use acceptance and efficiency




Add mapping Fit(Jpsi pt > 7GeV)
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» We make Jpsi pt >7GeV
 Total number of events in this region is 11254
* Prompt Jpsi pair events are 803003130

* Prompt Jpsi + Non-prompt Jpsi events are
389603075

* Non-prompt Jpsi pair events are 6865514285
» Jpsi + comb. events are 49542 4852
« Comb. + comb. Events are 1191078
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Jpsi repidity
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Jpsi repidity
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Jpsi rapidity
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Jpsi rapidity
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Jpsi rapidity
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